HIGH SCHOOL DISCUS CAGE #AHSDCAGE
GROUND SLEEVE LAYOUT
OUTER BARRIER NET (OPTIONAL)

Sp, O
ORT SUPPLY GROU® =

L=
o

ORI




HIGH SCHOOL DISCUS CAGE #AHSDCAGE

g < GROUND SLEEVE LAYOUT
SUPPLY GROU®
DISCUS CAGE FIGURE 2
#6 #4
I i
LINE Y /
\#2
\!
131t 8
gren v
\ 6ft71/2in
\ (2.02 m)
57 ft 4 in _I‘_\INE( .POINTC POINT A 11 ft POINT B ® i
(8.33 m) (3.35 m) |
6ft71/2in
‘ /| (2.02m)
11 ft R / l
(3.35 m)
131t 8 /
(4_16|Tl1r)] —10ft6in ——= \ "
(3.2 m) /
| %
| NET / d
-
_—
1 1 I _ —
#5 #3 | 11ft111/21in
| (3.65 m)

AHSDCAGE 12/92

R



HIGH SCHOOL DISCUS CAGE #AHSDCAGE

P
OR'«"SI’JPPLYGR.C)UY“'l

FOPE @

NET CLETE

e




HIGH SCHOOL DISCUS CAGE #AHSDCAGE

Sp (3
ORT SUPPLY GROU® o

ITEM PART QTY PART No.
A Upright 6ea  Z628AHSDCX
B Eye Bolt 5/16" x 5" 6 ea 2040312500
C  Locknut 5/16" 6 ea Z060312NLN
D  Washer 5/16" 12 ea Z070031Z/P
E  Snap Link 5/16" 12ea  Z411SNAPLK
F Pulley 6ea  Z099UP7086
G Rope 3/8" Close Nylon 6 ea NSPDLXXX
H  Rope Clete 6 ea Z405RC7242
| Pan Hd Screw #10 x 1 1/4" 12 ea Z055125#10
J Ground Sleeve 6 ea Z628GRDSLV
K Net 1ea SNHSDNET
L Ground Stake 11 ea ZAGSMETL
M Net Hook (optional) 24ea  Z095BNETHK
N Pan Hd Screw #10 x 1 1/4" 24 ea Z055125#10
O  Barrier Net (optional) 1ea SNHDBARNET
P Spectator Caution Sign 3 ea Z303DCAGEX

ROREGI

US-GAMES



